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QID : 1 - ‘Tfdz &1 TEt I-fa=aq &-

Options:

Correct Answer: 4) g+

Candidate Answer: 3) U+33

QID : 2 - TIBTET H DHIH-T1 JHN 872

Options:

f&

E5cd
HHYRY
TGN

N =

—_ ~— ~— ~—

3
4

Correct Answer: 4) ddxY

Candidate Answer: 4) dJxY
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QID : 3 - ‘UG § SIH-91 H 872

Correct Answer: 1) ddxy

Candidate Answer: 1) d4®y¥

QID : 4 - TS TS AT Uil 81 39! 4H g o 98 T fU Sik gal &f ot o 1 98 oA g&-
39 & 1Y GIR| & YE-g8 BI 3R Ul &9 | 30 W1 &l SIS guRl & fod &1 off T | o waref
Ry S AFadr Y 81 Rigd 8 It AT 3 | I8t Tt 4 | A U &dT O W & SR
RITT BR YoHal g1 I8 HF I, 47 9 T 7 T 3yaT A1 A GHRI DT YATS B Fehdl 8 | gORI & Ui Tt
TR aT ft Rfgd 81 fanslt Y T § s, fanedt ot pamt @ gern, faelt gt SR ey safaa
DI i1 &A1 Ht RGA & & ofala it g1 1Ta X A -Gt &1 Juwn § arer S arel el &1
TER foar| <91 Tite 3 AT &1 SR T, TUTe SR A RIF-RIM R $U, ardd 31fE GadTdx ol
1 IUGR 3| T8 AHad &1 T 4 B

HHadT T8l 5

Correct Answer: 3) AT T g BT

Candidate Answer: 4) @'@f & J9-¢9 DI 3R & F &l

QID : 5 - A1 & S % IR § $© Bl 9L, 39 H5d o

Correct Answer: 1) B%QCI
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Candidate Answer: 1) B%QEI

QID : 6 - CARRIED DOWN % fare I8} fe=<t miuiities wreq 3-
Options:

1) T
2) ®FH
3) e
4) 34

Correct Answer: 2) ¥+

Candidate Answer: 4) 3&H

QID : 7 - TfYy &7 e 3ref B-

Correct Answer: 3) o

Candidate Answer: 3) o

QID : 8 - I 3 P BisHR fAfkre 3if yebe B ard Wse A I 1 THN BldT 872

Correct Answer: 4) agaﬁ%wm

Candidate Answer: 4) Sgdife A

QID : 9 - TR & R I I8 HT A" AlD It DT 37 T gRTT?
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Correct Answer: 3) =1d &I oz Ix St WIfed
Candidate Answer: 3) =d &I Yax a¥g B! Wil

QID : 10 - 379 | DI 1 a1 3G &:-

TR U BT Tal STHRT I
T T W U RIam areit|

Correct Answer: 1) dbddl _g[l% gfeyd § e

Candidate Answer: 4) T ¥ W1 U A amsfi|

QID : 11 - UGsY & fba U B1d 87

Options:

)&l

) dF
) IR
) U

HOWON =

Correct Answer: 4) U]

Candidate Answer: 4) Uik

QID : 12 - * Higd RF ST 87| 397 19 a1 872
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Options:
1) Hgard
2) B aﬁq
3) Hid

4) Hﬂ-ﬁ

Correct Answer: 1) W

Candidate Answer: 1) av_riﬁm

QID : 13 - 9 # &9 I1 919 Y B-

Options:

) B 3o forare It faT ¢ < <t
) 98 T3 T df ga’] T[T

) & forare TeT §|

)

1
2
3
4) BH STBIUT &I Th 9% T

Correct Answer: 1) 9 3ot fpare It faa 2 < ot
Candidate Answer: 1) T 3o forare I f&m & < ot

QID : 14 - TS Teg Nfdd BT B &-

of &Y RS HRAT
ey § f5U 3 &) ogad v

Correct Answer: 4) H’@Tif 7 50 o BT g BT

Candidate Answer: 4) &Y & f50 31 o) sgad FH=T

QID:15-“TMMHA WG| 3 IR H Usg TR § -
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Correct Answer: 1) TGl

Candidate Answer: 1) oAl

(%)ID : 16 - TDHR BT I8 UHR ST8] T Weg, oy U 312 gt ar 3w 312 g1, B T SAAHR Hgarrar
?

Options:
1) SUHT
2)=Uh
3)JHd

)
)
)
) A

F Y

Correct Answer: 4) Y

Candidate Answer: 3) JH®

QID : 17 - I I G gad # ST S 31 | Bl @ls 7 GRS § IS ol STeN | TR Jal |

Options:

S

)
)
)
)

HOWON =

Correct Answer: 1) TSilfad

Candidate Answer: 2) favme

QID : 18 - ¥U® HTHR ge -
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Correct Answer: 3) Y& b HaAPp |

Candidate Answer: 3) HI&Y JHY HAD |

QID : 19 - * 3[UAD TH et Ta fI=Imel’ H PR & -

Correct Answer: 1) 3{U

Candidate Answer: 1) 3IUIY

QID : 20 - AC-ACH HIAT HYWH, Hied AYfE U1 39 Ufd & $1H-97 30PR &-

Options:

I&T

) THEH
) TS
)

) [avTaT

1
2
3
4
Correct Answer: 3) IET

Candidate Answer: 3) IET

QID : 21 - O A9 T Tl R | 39 Ufe & H1H-971 3P R B-
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Options:
1)

2)qHo
3) =Ud
4) Y

Correct Answer: 1) faRtemym

Candidate Answer: 1) faRremyr

QID : 22 - U1 & b= @Y SR 7% aUf BId 62

Correct Answer: 1) IIS

Candidate Answer: 2) lli

QID : 23 - Bidd T< & UdD R & fbdq auf R Ifa g1 82

Correct Answer: 1) 16 3R 15

Candidate Answer: 1) 16 3R 15

QID : 24 - IR & V S e WRd R F STUR ST §d 82
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Options:

1

N

) TS
) Gl
3) gAY
4) STH A 3IE T

Correct Answer: 4) E:I'ﬁf T ?ﬁ’sc :If’pfl

Candidate Answer: 1) UdIq

QID : 25 - TI® 3R RGBT & YH-UIT & =301 & forg T8 T A gid1 82

Options:

Correct Answer: 1) $TRI™I

Candidate Answer: 3) dlcdcd XY

QID:26-Ifa=23X 3 b=2x3%2X5, c=3x5"and LCM (a,b,c)=23x 3°x5 then n is equal to
gfd a= 23X 3 ,b=2x 32X 5, c=3x5" AU LCM (a,b,c)=23x 32x5 Al n SRR B

Options:

Correct Answer: 1) 1

Candidate Answer: 1) 1
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QID : 27 - The HCF of the smallest prime number and smallest composite number is

e BICT 3UTSY TAT 3R o Bt QI T-AT BT HOHO B

Options:

Correct Answer: 3) 2

Candidate Answer: 3) 2

QID : 28 - The HCF of 4052 and 12576 is ...............

4052 TUT 12576 BT HoFo ... Ul

Options:

Correct Answer: 4) 4

Candidate Answer: 3) 3

QID : 29 - Maximum number of zeroes in a polynomial having degree n is :

n U1 aTel et Sgue § D! &1 SfiGHad S gl 6 -
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1) n+1

Correct

QID : 30
has no s

Options

Correct

QID : 31

Options:

Candidate Answer: 3) n?

K & {5 A & o IiasRor g x+2y-3=0 TUT 5x+ky+7=0 H1 H1s & Al a1 2

Candidate Answer: 2) 10

THIHRT 3x+4y-9=0 & {18 T x = 5 81, A y BT A FT BN ?

7 GET IT ON
Google Play

Answer: 4) n

- What will be the value of K for which the system of equations x+2y-3=0 and 5x+ky+7=0
olution ?

Answer: 2) 10

- If x = 5 for equation 3x+4y-9=0, then the value of y will be :
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Options:

Correct Answer: 4)

=

2

Candidate Answer: 4)

=3

2

QID : 32 - Find the mean of first n odd natural numbers is

YA n UIhd [awd T3t T T8 J1d B

Options:

Correct Answer: 3) n

Candidate Answer: 1)
n+1
2
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QID : 33 - The value of ¢ for which the equation ax?+bx+c=0 has equal roots

¢ & o A & e fgura THiaur ax2+bx+c=0 & o THM B

Options:

Correct Answer: 2)
hz

4a

Candidate Answer: 2)
hz

4a

QID : 34 - If a linear space equation has solutions (-2,2), (0,0) & (2,-2) then it is of the form

ot g THierur & 8 (-2,2), (0,0) TYUT (2,-2) BY Al Wb THIHRUI BT =0 g1 -

Correct Answer: 1) y=-x

GET IT ON
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Candidate Answer: 4) x =2y

QID : 35 - What is the sum of money whose compound interest for the second year at 10% per
annum is Rs.132.

I8 oA foram 8 foraes g af &7 ashgfa =Tt 10% anftfes R A 2132 %.....

Options:

1) To 1000
Fo 1000
2) o 1120
Fo 1120
3) o 1200
Fo 1200
4) To 1320
Fo 1320

Correct Answer: 3) %o 1200
%0 1200

Candidate Answer: 4) %0 1320
%o 1320

QID : 36 - If the difference between the compound interest and the simple interest on a sum for two
years at 4% interest is Rs 20, then the amount will be?

Tt AR TR 4% S BT R I &1 a1 & Ihgfeg SATol T WIYRUT ST BT SR X 20 § df 98 M

Options:

1) 12000 Fo
12000 Fo
2) 12500 Fo
12500 Fo
3) 13500 Fo
13500 Fo
4) 10000 Fo
10000 Fo

Correct Answer: 2) 12500 %o
12500 ®o

Candidate Answer: 3) 13500 %o
13500 %o
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QID : 37 - What is the distance of a point (x, y) from the origin.

Options
1)
/ x? - }'2
2)
N ST
3) x2-y?
X2y
4) X2y2
x2y2

Correct Answer: 2)
a2 s

Candidate Answer: 2)

S

QID : 38 - If the co-ordinates of the vertices of a AABC are (-2,3), (8,3) and (6,7) then what will be the
x-co-ordinates of the centroid of that triangle.

e AABC & 2t & =1 (-2,3),(8,3) 3IR (6,7) § Ot YW & Fseh & x-S I |

Options:

Correct Answer: 3) 4

Candidate Answer: 3) 4
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QID : 39 -

—
AB denotes the

AB SHdI®...... ]

Options:

1) Line segment AB
TGS AB

2) Ray AB

fvur AB

3) Line AB

3\ AB

4) None of These

3T A BIE el

Correct Answer: 2) RayAB
fohRuT AB

Candidate Answer: 1) Line segment AB

WERIS AB

QID : 40 - The area of a sector of a circle of radius 28cm and central angle 45° is
28 It FaT SR FHefla BHIvT 45° AT U I & AoTWS HT 8AHd o

Options:

1) 308cm?

2) 294cm?

3) 322cm?

4) 318cm?

Correct Answer: 1) 308cm?

Candidate Answer: 1) 308cm?

GET IT ON
Google Play
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QID : 41 - If a circle C(o,r) has chords AB = 8 cm, DE = 6 cm and OL, OM are perpendiculars on them
respectively then the relation is true.

Jd C(o,r) T SffaT AB=8 T, DE=6 T}, 3R OL, OM HHRT: ITR d § ol ey T g |
Options:
1) OL>OM

2)0L
3) OL=OM

4) OL=20M
Correct Answer: 2) OL

Candidate Answer: 1) OL>OM

QID : 42 - If the length and breadth of a rectangle are 15cm and 10cm, respectively, then its area is:
e T 3T BI Tals 3R SIS HHRE: 15cm 3R 10cm @, ol SHBT &T%hA &

Options:

1) 100 sqg.cm

2) 150 sq.cm

3) 115 sg.cm

4) 200 sq.cm

Correct Answer: 2) 150 sg.cm

Candidate Answer: 2) 150 sq.cm

QID : 43 - The height of a cuboid whose volume is 275 cm? and base area is 25 cm? is:

T TTH B HaTS BT FoTpT 3 275 YHiecmS § 3R YR &7 25 IHcm? §:
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Options:

1) 10 cm
10 St
2)11cm
11 Gt
3)12cm
12 ot
4) 13 cm
13 9ot

Correct Answer: 2) 11 cm

11 It

Candidate Answer: 4) 13 cm

13 9+t

QID : 44 - If the difference between the circumference and radius of a circle is 37 cm, then the area of
the circle is

I U g ) uRfY 3R s & o9 &1 3far 37 Yt 8, A 911 T e
Options:

1) 111 cm square
111 1 9o
2) 148 cm square
148 if Jffo

3) 259 cm square
259 9 Ttflo

4) 154 cm square
154 T Teto

Correct Answer: 4) 154 cm square

154 I Yo

Candidate Answer: 3) 259 cm square

259 gif Jrfto

QID : 45 - Mode of Following table is
=1 aRoft %1 sg® ©

Value (IR) 2 3 4 5 6

Frq (sT+) 2 5 9 6 4
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Correct Answer: 3) 4

Candidate Answer: 4) 2

QID : 46 - Mean of ten Number is 6. Later was found that by mistake 9 is read instead of the right
number. Then the correct numberis ...... when correct mean is 7.

g T3 BT 71 6 § 91 | UdT Il Uh TRSAT B! ITefd! T 9 UG foran o1 39 Ta1 &1 Tgl A g o
eI AT 7 3T §

Options:

Correct Answer: 3) 19

Candidate Answer: 3) 19

QID : 47 - If Mode-Mean = 12 then Mode-Median =

gfe Sga®-ME=12 dl IgADH-HIHH=--- BN

Options:

Correct Answer: 2) 8

GET IT ON
Google Play
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Candidate Answer: 3) 6

QID : 48 -

If sinB 4+ cosB = 5f4, then the value of
sinB.cosBis ..

gfd sin B + cos B = 5/4,(_-n'sinB.cnsB <hl

AA...... g

Correct Answer: 2)

9
32

Candidate Answer: 1)

1

4

QID : 49 -

cotd i tand
cot@—cot28 tanf-—-tanid

GET IT ON
Google Play
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Options:

N =
- O

)

)
3)-1

)2

F Y

Correct Answer: 2) 1

Candidate Answer: 3) -1

QID : 50 -

tanf-2cosf _

If sin6 = 3('5 and 0<90° then

3sinf+secd

Options:

1)

—61
17
4)17

Correct Answer: 1)
—-17
61
Candidate Answer: 1)

—-17
61

3sinf+secd

fG sinf = 3,/5 3] o<oge gy an8-2c0s8 _

GET IT ON
Google Play
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QID : 51 - Fish culture is sometimes done in combination with a rice crop, so that fish are grown in
the water in the paddy field. This is called as

T UTAH & 3f=id 98 IRAT Ford ol T a1 9% & ofd 9 R RIFl R Igfad siidl &1 Sd1e- \re
d 3 TG B [baT STl 8, Bl o-

Options:

1) Pisciculture
CIRIETEH

2) Mariculture

TRidbeR

3) Horticulture
HEGTEH

4) Capture fish
Tl Ghel

Correct Answer: 2) Mariculture

Hher

Candidate Answer: 1) Pisciculture

TRl ear

QID : 52 - Fe,O3 + 2AI—Al,O5 + 2Fe
Above reaction is an example of which of the following?

Fe,03 + 2AI—AI>,03 + 2Fe
U sififsrar Feffad # frae IamRu 82

Options:

1) Combination reaction

o 3ifHishar

2) Double displacement reaction
fo faRimu sififosar

3) Decomposition reaction
3(qgeH i

4) Displacement reaction

fowiTgT Siftyferar

Correct Answer: 4) Displacement reaction

fowiTge sifiyferar

Candidate Answer: 1) Combination reaction

T SifHfear
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QID : 53 - Which one among the following turns blue litmus into red ?

fRAfafea & 19 i folcqg 13 &) a1 HRaT g ?
Options:

1) CH;OH

CH3OH

2) CH3COOH

CH3COOH

3) HCOOH

HCOOH

4) More than One options are correct.

e § el fawey I8l 8

Correct Answer: 4) More than One options are correct.

TH I w1e] fawey 9l B

Candidate Answer: 2) CH;COOH
CH3COOH

Options:
1) Evaporation

2) Sublimation
3

3) Boiling
HYq

4) Diffusion
[ERRY

Correct Answer: 4) Diffusion

oo

Candidate Answer: 1) Evaporation

CILYERU

QID : 55 - Plasma membrane is composed of...

GET IT ON
Google Play
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Options:

1) Protein

PIGiS!

2) Phospholipids and proteins

BRGNS 3R W

3) Proteins, Carbohydrates and phospholipids
UIeH, PTefersgc SR BRGIIUSY

4) Proteins and nucleotides

T SR feRrdiereed

Correct Answer: 3) Proteins, Carbohydrates and phospholipids

UIdH, PTefergge 3R BIepliey

Candidate Answer: 3) Proteins, Carbohydrates and phospholipids

TIéH, ®relergge 3R BIEplitey

QID : 56 - The cells having more than two complete sets of chromosomes are called.
o PifkreTsTt # TURET & & ¥ 31fi% gui 3¢ B1d &, Dol 6...

Options:

1) Haploid

3Ifore

2) Diploid

faafora

3) Polyploid

4) Polyhybrid

ERRERY
Correct Answer: 3) Polyploid
Candidate Answer: 2) Diploid

QID : 57 - Biodegradable waste can be transformed into compost by a process called ? :-

q faula HeR &1 fow uferar gr1 @re & uRkafdd faar s gear g 2

GET IT ON
Google Play
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Options:

1) Composting
dlq d7 dhX

2) Recycling
MEIHESUER
3) Reusing
Y: TN

4) Wasting

el B

Correct Answer: 1) Composting
Yl g1 )

Candidate Answer: 2) Recycling

ST fadT HR

QID : 58 - In amoeba, food is digested in the:
SrftaT § 4iST &7 UTed 81l &
Options:

1) Food vacuole
e Risget
2) Mitochondria

HIgCIp Il

3) Pseudopodia

RSBl

4) Chloroplast

FARIARE

Correct Answer: 1) Food vacuole

@ Rfgaer

Candidate Answer: 2) Mitochondria

LIS ERISR

QID : 59 - What is the number of autosomes in human ?

g H BTG TURE (SMTCIH) o1 ST o1 | -
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Options:

1) 46
46
2) 44
44
3)23
23
4) 22
22

Correct Answer: 2) 44
44

Candidate Answer: 1) 46
46

QID : 60 - If the body is projected up into air with certain angle, then the path followed by it is
e ot avg &1 ga1 H SWR BT 3R UrehT STl § al 9% gRT ad Uy &I §

Options:

1) Linear path

i)

2) Spherical path

3) Elliptical path

4) Parabolic path
WRAAT & AHTHR B

Correct Answer: 4) Parabolic path
R b HBR Pt

Candidate Answer: 4) Parabolic path
R & HHR Pl

QID : 61 - The Sl unit of power is.

yfed BT SI AES © -
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Options:

1) watt
dqic
2) joule

ofdd
3) Newton

e
4) Pascal

U d

Correct Answer: 1) watt
dic

Candidate Answer: 1) watt
drc

QID : 62 - What are the primary forces acting on an object when it is submerged in water?
T DI a%] U 7 gt il | 39 R B FHRA aTal Ui 56 i g 82
Options:

Five

Nﬁ—\

) Three

@
g%

2 a
83
o

Correct Answer: 3) Two

al

Candidate Answer: 2) Three
GIG]

QID : 63 - One of these can hear infrasound .This one is

0 Y B Y I B YA bl §

GET IT ON
Google Play
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Options:

1) Humans
Hg

2) Bat
JHIMGS

3) Rhinoceros
UK

4) Dolphins
STafth

Correct Answer: 3) Rhinoceros

ISy

Candidate Answer: 1) Humans
HHg

QID : 64 - Which one of these is the Biosphere Reserve of India?

79 ¥ B9 I HRA BT TURBIRR Rofd 872

Options:

—
~

Gir

=

2) Nilgiri
3) Kanheri

Fedl

4) None of them

3T A BIS Tl

Correct Answer: 2) Nilgiri

BISIHIN

Candidate Answer: 2) Nilgiri

QID : 65 - Which is the most important component of air for human existence?

T4 31T P T W6 & T T Agayul ga1 &1 11 82
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Options:

1) Nitrogen

RIEESE
2) Carbon
GIER!

3) Helium
giferad

4) Oxygen
STt

Correct Answer: 4) Oxygen

RIERIGES

Candidate Answer: 4) Oxygen
SRt

QID : 66 - The environment quality can be significantly improved by the practice of:
0 & SN I TTaRUT & 0T B IRa- GUR BT S qhdT §:
Options:

1) Overuse of natural resources
Urepfdeh SHIY! T i TaNT

2) Erosion

Hcld

3) Deforestation

I BT Bels

4) Conservation

TR&r

Correct Answer: 4) Conservation
TR&fUT

Candidate Answer: 4) Conservation
TREF0T

QID : 67 - The gravitational pull of causes the rise of sea-water during high
tides.

[ & BByl {Ed & HRUI 3o SaR & R I b1 U SR IodT |

GET IT ON
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Correct Answer: 4) Moon
CELI|

Candidate Answer: 3) Sun

Rl

QID : 68 - Which performs of function of positive pole in a simple cell?
WA G H 4 4d BT B DI Bl 52
Options:

1) Fe
Fe
2) Ag
Ag
3)Cu
Cu
4) Zn
Zn

Correct Answer: 3) Cu
Cu

Candidate Answer: 3) Cu
Cu

QID : 69 - At what degree temperature does tungsten melt?

e foban &3l g R frgretdr &1

GET IT ON
Google Play
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Options:

1) 3422°C
3422°C
2) 1520°C
1520°C
3) 3025°C
3025°C
4) 2000°C
2000°C

Correct Answer: 1) 3422°C
3422°C

Candidate Answer: 1) 3422°C
3422°C

QID : 70 - Which one of the following media has maximum speed of light?
7 o 9 forw ey © UobTe1 &t 9T SHfeehd 67
Options:

Air

g:

2) water
o

3) Glass
==

4) Diamond

R

Correct Answer: 1) Air
=l

Candidate Answer: 1) Air
gdl

QID : 71 - When did the Boston's tea party take place ?

e &1 II-urf ge1 e "t ?
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Options:

1) 1765
1765
2) 1767
1767
3) 1773
1773
4) 1774
1774

Correct Answer: 3) 1773
1773

Candidate Answer: 3) 1773
1773

QID : 72 - Who was the leader of the Santhal rebellion in 1855 ?

1855 3. T TUTA fagIg BT AT HIF UT 2
Options:

1) Sidhu

frey

2) Birsa munda
foar ger

3) Mangal Panday
HTe Ui

4) None of these

3T A BIE Tl

Correct Answer: 1) Sidhu

gy,

Candidate Answer: 3) Mangal Panday
U GRI

QID :73 - regimes imposed censorship laws to control what was said in newspapers,
books, plays and songs and reflected the ideas of liberty and freedom

........ T 3 FHER U3, GRae!, e, 3R 1idl # &gt 718 a1t &) afa w9 & forg SRfRm srA
AN forar TR SR AT U ST & faaR &t ufafsfad fasan
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Options:

1) Liberal

Jalk

2) Conservative
wfgardt

3) Democratic
[IE|IEED

4) Secular

YHARTE

Correct Answer: 2) Conservative

wfgarat

Candidate Answer: 4) Secular

YHRYE

QID : 74 - Jallianwala Bagh created the background of which movement?
Sferatarer T 3 fd sicier @ gEYH dOR $1?
Options:

1) Civil Disobedience Movement
RICERICCRIRIE NG K]

2) non-cooperation movement
SHGYURT 3ficier P

3) Quit India Movement

YRd Blg! iaiaH B

4) Khilafat movement

faemwa siigrad &t

Correct Answer: 2) non-cooperation movement

S AT Sfigia &1

Candidate Answer: 2) non-cooperation movement

AT figia &1

QID : 75 - Who is the author of the book 'Tarikh-e-Dawoodi'?

TRIG-U-GR&H 4" ATHS G & oD DI 672
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Options:

1) Abdullah

2) Megashenes

3) Khwaja Niyam Tulla
ATST
4) Durga Charan Roy

TR I

Correct Answer: 1) Abdullah

Candidate Answer: 1) Abdullah

QID : 76 - Palk strait separates India from which country?
U1 STerd e HRd 1 [ S=1 F el Hral § 2
Options:

1) Pakistan

BlEESIE]

2) Sri Lanka
CINE

3) Maldives

BINEAG]

4) Mauritius
AR

Correct Answer: 2) Srilanka

PIRER

Candidate Answer: 2) SrilLanka
CINEa

QID : 77 - What percentage of Bhutan's area is forested?

Y & &% BT fbd-T Ufaerd a-resied 82
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Options:

1)0.2
0.2
2)0.5
0.5
3)0.7
0.7
4)0.9
0.9

Correct Answer: 3) 0.7
0.7

Candidate Answer: 3) 0.7
0.7

QID : 78 - On the basis of origin, resources can be classified as and

GET IT ON
Google Play

IR & SMYR W, TA1LAT DY 3R & w0 § Fffea fomar o1 a8 |

Options:

1) Biotic and Abiotic

Sifad SR sroifdd

2) Renewable and Non-renewable
Tl &R R-Tdiauig

3) Potential and Developed
HyIfad SR faw i

4) None of these

3T A BIE el

Correct Answer: 1) Biotic and Abiotic

S R srifas

Candidate Answer: 2) Renewable and Non-renewable

FdiBRUg SR IR-TdiBRulig

QID : 79 - Which one of the following is a non- metallic mineral?

Iog # fyq g1 FAgfoied & 9 SH-91 T 31urg | 82
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Options:

—
~

Lead

}

2) Copper
DI

3) Tin

feq

4) Limestone

EQIRRIN

Correct Answer: 4) Limestone
FATURR

Candidate Answer: 2) Copper
DO

QID : 80 - Teak monoculture has damaged the natural forest in
AT Ao = T U STd & Iy Ugam g |
Options:

1) North India

3R HRd

2) South India

Sfaor YRd

3) Central India

HY YRd

4) Northeastern India

gtk HRd

Correct Answer: 2) South India
Gf&ror HRd

Candidate Answer: 4) Northeastern India

AR YRd

QID : 81 - Is not an example of primary energy ?

UTUTHE il 1 IaTevul et 872

GET IT ON
Google Play
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Options:

1) Coal
DHIga

2) Electricity
fayd

3) Petroloum

Uaiferay

~

4) Natural Gas

THfad 1

Correct Answer: 2) Electricity

faya

Candidate Answer: 2) Electricity
faga

QID : 82 - Which among the following is small scale industry ?
ffafEad & oH B T &1 34N 872
Options:

1) Sugar Industry
= IR
2) Paper Industry

DT I
3) Toy Industry

4) Electrical appliance Industry

faed Iuemur I

Correct Answer: 3) Toy Industry

e 3=

Candidate Answer: 3) Toy Industry

CRIIRRSEI

QID : 83 - Which of the following soil is commonly found in the plains in Bihar ?

fS8R & Hart wm & e & 9 3 & gt gerd: ol 9t @ 2

GET IT ON
Google Play
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Options:

1) Alluvial soil
wieilg foret

2) Black soil
CaNIREH]

3) Red saoll

e g

4) None of these

T8 U DIs 8l

Correct Answer: 1) Alluvial soil

ST et

Candidate Answer: 1) Alluvial soil

s et

QID : 84 - In which country did the Glorious Revolution take place?
TRAYU hifd f5g =T H 32

Options:

’!) England

2) America
3ARDT

3) France
ans]
4) Russia
=Y

Correct Answer: 1) England

TS

Candidate Answer: 2) America

3R

QID : 85 - In how many years the voter list is revised?

AT T BT URRMeH fobd= aui § giar 82

GET IT ON
Google Play
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Options:

1)6 yrs
6 a9
2) 10 yrs
10 9%
3)5yrs
539
4) 2 yrs
2 9

Correct Answer: 3) 5yrs

5y

Candidate Answer: 2) 10 yrs
10 9%

QID : 86 - What is Lok Sabha called in England?

TABTHT DI 7010 | T HgT ATl 52
Options:

1) House of Representatives
PIRIGIREEN

2) Upper House

3= dad

3) House of Commons
B3 3B HIHA

4) Lords

ey

Correct Answer: 3) House of Commons
BI3Y 3HIt HHY

Candidate Answer: 3) House of Commons
B39 310 HIHY

QID : 87 - Which one of the following is not a Political right?

e § o T YeHifde SfteR T8 € 2
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Options:

1) Right to vote

HAGH BT TR

2) Right to fight election

TG de B DR

3) Right to adopt any religion

forddt 4 31 WHR T BT HHR

4) Right to criticise the government.

WEHR DI AT B BT HTBR

Correct Answer: 3) Right to adopt any religion

et 4 ) TPR B BT SRBR

Candidate Answer: 4) Right to criticise the government.

WBHR DI AAIAT B BT HYBR

QID : 88 - How many lists has been made for purpose of distribution of Power in India?
YR H Tl & fIR0 & I 9 fova1t Gl o918 TR & 2
Options:

One

/§_|:)

Two

Three

&L an

%h%
m

o

[

=

Correct Answer: 3) Three

I

Candidate Answer: 2) Two

al

QID : 89 - In which of the following years did the first Amendment Act of the Constitution of India
come into force

fafefed & @ fow g  yRd & Hfdur o1 ugen d=iyT sfAfam anggen

GET IT ON
Google Play
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Options:

1) 1971
1971
2) 1951
1951
3) 1989
1989
4) 1948
1948

Correct Answer: 2) 1951
1951

Candidate Answer: 3) 1989
1989

QID : 90 - Countries face the ...... challenge of making the transition to democracy and then
instituting democratic government.

33 B A H aRTd HA 3R R Ahdite RHR RIS HRA BT .. I BT FHAT
BT ISl &

Options:

1) Initial
URfS

2) Original
7

3) Foundational

Heyd
4) Beginning

BIRI

Correct Answer: 3) Foundational

Heyd

Candidate Answer: 3) Foundational

Hevd

QID : 91 - Identify the tense used in the sentence.
"Nick has purchased a new laptop".
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Options:
1) Present perfect tense
2) past indefinite tense

)
)
3) past perfect tense
4) Present indefinite tense

Correct Answer: 1) Present perfect tense

Candidate Answer: 2) past indefinite tense

QID : 92 - Complete the sentence using appropriate option.
| probably........... left.

Options:

1) should have
2) will

3) has

4) having

Correct Answer: 1) should have

Candidate Answer: 3) has

QID : 93 - Select the most appropriate option to change the sentence from direct speech to indirect
speech

He asked Betty, "Do you like sweets"?

He ..o know if Betty......... sweets.

Options:
1) want to/like
2) wants to/likes
)
)

3) won't/liked
4) wanted to/liked

Correct Answer: 4) wanted to/liked

Candidate Answer: 4) wanted to/liked
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QID : 94 - Select the most appropriate option to change the sentence from direct speech to indirect

speech

"Ramesh hasn't eaten breakfast till now", he said.

He told me that Ramesh ....................... breakfast ill ....................
Options:

1) hasn't eaten/present time
2) hadn't eaten/that time

3) haven't eaten/morning time
4) didn't eaten/that time

Correct Answer: 2) hadn't eaten/that time

Candidate Answer: 3) haven't eaten/morning time

QID : 95 - Pickout the Non finite verb/verbs in the sentence given below.
Don't make me laugh.

Correct Answer: 4) Laugh

Candidate Answer: 4) Laugh

QID : 96 - Pick out the Non Finite verbs in the given sentence
| will not let you go.

Options:

1
2) Let

)1
)

3) You
)

4) Go
Correct Answer: 4) Go

Candidate Answer: 3) You
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QID : 97 - A sentence has been given in Active Voice. Out of the four alternative given below, select
the one which best expresses the same sentence in Passive Voice

| shall teach you.

Options:

1) You will be taught by me.

2) You are being taught by me.

3) You were taught English by me.

4) You should be taught by me.

Correct Answer: 1) You will be taught by me.

Candidate Answer: 4) You should be taught by me.

QID : 98 - Which one is the symbols of Parentheses /Round Brackets?

Options:

B WON -
2202
oS/

> -

Correct Answer: 1) ()

Candidate Answer: 1) ()

QID : 99 - Which of the following word has the correct punctuation mark?
Options:

1) Non-violence
2) Non-Indian

3) Vice-president
4) All of these

Correct Answer: 4) All of these

Candidate Answer: 3) Vice-president

QID : 100 - Fill up the blank, with the correct option
He walks................. foot.
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Correct Answer: 2) on

Candidate Answer: 2) on

QID : 101 - Fill up the blank, with the correct option
lwas born ................ June 9th,1975.

Options:

-—

G
R

Correct Answer: 3) on

Candidate Answer: 1) of

QID : 102 - Choose the most appropriate option to complete the sentence.

The house is very expensive, ---- | could not buy it.

Options:

Correct Answer: 4) so

Candidate Answer: 4) so

QID : 103 - Complete the sentence with correct cohesive device
................ she came back from the toilet, Rajni fainted.

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap

Addai247

Options:

1) In spite of
2) Although
3) As soon as
4) When

Correct Answer: 3) As soon as

Candidate Answer: 3) As soon as

QID : 104 - Select the alternative which best express the meaning of the idioms/phrase.
Herculean task

Options:

1
2
3
4

An easy task
Extremely difficult task
Home Work

Work in progress

~— ~— ~— ~—

Correct Answer: 2) Extremely difficult task

Candidate Answer: 3) Home Work

QID : 105 - Select the alternative which best express the meaning of the idioms/phrase.
On account of

Options:

1) In the account of someone
2) Because of
3) Imitating others

)

4) In the favour of
Correct Answer: 2) Because of

Candidate Answer: 2) Because of

QID : 106 - Select the alternative which best express the meaning of the idioms/phrase.
Get into

GET IT ON
Google Play
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Options:

1) To find something

2) To be involved in

3) To receive something
4) To be ignorant

Correct Answer: 2) To be involved in

Candidate Answer: 1) To find something

QID : 107 - Choose the correct phrase from the given option and make a conditional sentence.
If Shahil had been online, he........... to Rocky.

Options:

1
2
3
4

will chat

would chat

would have chatted
will have chatted

~— ~— ~— ~—

Correct Answer: 3) would have chatted

Candidate Answer: 3) would have chatted

QID : 108 - Choose the correct phrase from the given option and make a conditional sentence.
What birthday present would you ........... have bought for me if you about it?

Options:
1) hadn't forgotten
2) haven't forgotten

)

)
3) aren't forgotten
4) weren't forgotten

Correct Answer: 1) hadn't forgotten

Candidate Answer: 4) weren't forgotten

QID : 109 - Fill up the blank with the correct option.
There .......... many a slip between the cup and the lip.

GET IT ON
Google Play
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Correct Answer: 3) Is

Candidate Answer: 2) Are

QID : 110 - Fill up the blank with the correct option.
Physics.......... an easy subject

Correct Answer: 3) is

Candidate Answer: 3) is

QID : 111 - Find out the odd element from the given options:-
A f&d U fased! & 4 fawd da &1 J1d By
Options:

1) Lawyer
CEAR

2) Administrator
ERURED

3) Doctor
S{EN

4) Engineer

ERIIRRH

Correct Answer: 2) Administrator
ERURED

Candidate Answer: 3) Doctor
SR

GET IT ON
Google Play
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QID : 112 - The mother of Aand B is C. B's Husband is D. state how C is related to D?

ASRBHI ATICEIBHIUID I Sad fb C BT D Y AT ITY § ?
Options:

1) Mother-in-law
RINI

2) Sister

CREl

3) Mother

Hrdr

4) Aunt
EIC]]

Correct Answer: 1) Mother-in-law
ag

Candidate Answer: 1) Mother-in-law
RINI

QID : 113 - Y is to the East of X which is to the North of Z if P is to the south of Z then in which
direction is P with respectto Y ?

YEAXS NEzH Ay FasdaprfrafRnag?
Options:

1) South-west
féror-ufym

2) South-East
afamrgd

3) North-East
SwR-gd

4) North-West
JIR-UEH

Correct Answer: 1) South-west

AR B

Candidate Answer: 2) South-East

aléurgd

GET IT ON
Google Play
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QID : 114 - In the alphabet which Letter will be exactely in the middle of 21st Letter from the last and
22nd Letter from the beginnign ?

guiaTen H 3ifam ¥ 22 af 9UT UR™ A R dF &R & 31 T H B T 3H&R gHT 2

Options:

Correct Answer: 2) N
N

Candidate Answer: 1) M
M

QID : 115 - The letters A, B, C, D and E are arranged in such a way that there are exactly two letters
between A and E. How many such arrangements are possible?

&R A, B, C, D 3R E &I 3 USR I Ud [Ha1 a1 § 5 A 3R E & S 31 & 31&R &1 Ut fopamit
TARITE THT 872

Options:

1) 12
12
2)18
18
3) 24
24
4) 36
36

Correct Answer: 3) 24
24

Candidate Answer: 1) 12
12
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QID : 116 - If you write down all the numbers from 1 to 100, then how many times do you write 3?

Tfe 3MT 1/ 100 T o1 it TwAmef foraa & , Y 3 b1 31U fopd=1 ok forda?
Options:

1) 11
11
2) 18
18
3) 20
20
4) 21
21

Correct Answer: 3) 20
20

Candidate Answer: 3) 20
20

QID : 117 - In the following question, select the missing number from the given series.
49, 46, 43,40, 7, 34

fofeRad wy o, < 1S yae T g e &1 99 B
49, 46, 43, 40, ?, 34

Options:

1) 38
38
2) 37
37
3) 36
36
4) 39
39

Correct Answer: 2) 37
37

Candidate Answer: 2) 37
37

GET IT ON
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QID : 118 - Look at this series: 3, 4,7, 8, 11, 12, ...
What number should come next?

ST YTATHI ¢ 11 3, 4,7, 8,11, 12, ...

T DI T T A AMBT?

Options:

1)7
7
2) 10
10
3) 14
14
4)15
15

Correct Answer: 4) 15
15

Candidate Answer: 4) 15
15

QID : 119 - How many 7’s are there in the following series which are preceded by 6 which is not
preceded by 8?
87678675679761677688697687

frafefaa e & T3 foba 7 € f7e g dl 6 8 Sl 8 3 Ugd el 82
87678675679761677688697687

Options:

—

) NIL

e

N
O

) ONE

5

TWO

o4

4) NONE OF THESE

3T A BIS Tl

Correct Answer: 4) NONE OF THESE

3T A DI Tl

Candidate Answer: 1) NIL
LA

GET IT ON
Google Play
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QID : 120 - Insert the missing number
5,17, 14, 26, 23, 35,32,

qud T=
5,17, 14, 26, 23,35, 32,

Options:

1) 34
34
2) 44
44
3) 54
54
4)64
64

Correct Answer: 2) 44
44

Candidate Answer: 2) 44
44
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